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B 3. Rank the equivalent resistance of the five . Lt
N circuits below from greatest to least. Show -i E
" each calculation clearly. [fleo@®
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: 1. In which circuitabove are meters properly 4Q
...n connected to measure currentthrough R1 and
= potential difference across R2? Explain. | | 4Q
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- 2. ResistorsR1 and R2 have an equivalent [] L{‘_J.
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! 1. In which circuit above are meters properly 4

i connected to measure current through R1 and P A VAT A o P
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Three identical resistors have an equivalentresistance of 12 chms when connected in series. What is the

The diagram above shows a parallel circuit. _— I 3
What is the equivalent resistance? [] jl
What is the current measured by the ammeter?

What is the voltage drop across each resistor?
What is the currentthrough each resistor?

R
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equivalentresistance if they are connectedin parallel? RT RI *2‘ " Rs = 3 2
i
:Juo'-ove 20.0 230.Q360.0Q - _l_ +._1 ~‘
- Ro= (i +5+¥)
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5. Thediagram above shows a parallel circuit.

e  Whatis the equivalentresistance?\/ */CC) B/C +h¢20.cl 30ﬂ 4“d G’m

* Whatis the current measured by the ammeter? re_ggw are H\Eml[e, -Huq all havt
* Whatis the voltage drop across each resistor?‘/ .gcc
® What is the current through each resistor? ‘ a‘ m\f(
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6. Considerthe series circuit shown above. Avoltmeterand ammeterare connected as shown.
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6. Considerthe series circuit shown above. Avoltmeterand ammeter are connected as shown.
* What readingwould the voltmeter show? ;
* Whatis the value of the resistorR? Vl

820 Q 680 Q 470 Q

all ) 3:41 PM
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7. Determine (a) the equivalent resistance of the circuit shown above, (b) the voltage across each resistorE

(tsr;-r(:);‘;::e;t;ﬁaggeam " Vean = Vgzog = Vo ~ Vi = [2V-GleV'5

e 5l (o) - 8 o)

8. Calculate the terminal voltage for a battery with an internal resistance of 0.90Q2 and an emf of 8.50Vv wheri
the batteryis connected in series with (a) an 81.0-Q resistor, and (b) a 810.0-Q) resistor.
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9. Whatis the internal resistance of a 12.0-V car battery whose terminalvoltage drops to 8.4 V when the :
starterdraws 75 A? What is the resistance of the starter? o
¥
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I_!‘!‘. Calculate the terminal voltage for a battery with an internal resistance of 0.90Q and an emf of 8.50V whe
the batteryis connected in series witl{ (g) an 81.0-Q) resistor, and (b) a 810.0-Q resi
(0} \(=£-Ir C=ifea»Ir=t . £ _ 3.50\/: |03 A
=850-(,103gRAYAQ)  Re Rer a9

What is the internal resistance of a 12.0-V car battery whose terminal voltage drops to 8.4 V when the
starterdraws 75 A? What is the resistance of the starter?

(0 Vr=E-Tr Tr=850 _ piouph
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10. A 5.0-ohmresistor, a 20.0-ohm resistor, and a 24-volt source of potential difference are connectedin o
p|arallel. A single ammeteris placed in the circuit to read the total current. | ¥
4 1l »
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' 9./ What is the internal resistance of a 12.0-V car battery whose terminalvoltage drops to 8.4 V when the
.~ starterdraws 75 A? What is the resistance of the starter?
A ——————————————
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10. A 5.0-ohmresistor, a 20.0-ohm resistor, and a 24-volt source of potential difference are connectedin
parallel. A single ammeteris placed in the circuit to read the total current.
e Onthediagram below, draw in wires connecting the components shown to make a complete circuit
that will function as described above.
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10. A 5.0-ohmresistor, a 20.0-ohm resistor, and a 24-volt source of potential difference are connectedin | L'_r
parallel. A single ammeteris placed in the circuit to read the total current. T
¢ Onthediagram below, draw in wires connectingthe components shown to make a completecircuit |5 . o @ D

that will function as described above.

500 (é)E}:Géﬁit)4=EEE§ﬂ

e | (0 Ir= Vi_ (uV)

24-volt
source

0

* Determine the total resistance.(a

Rr (4.00)

* Determine the total current measured by the ammeter. Cb)

11. Three 240-Q resistors can be connected togetherin four different ways, making combinations of series :
and/or parallel circuits. What are these fourways, and whatis the netresistance in each case? c
i
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8. Three 240-Q resistors can be connected togetherin four different ways, making combinations of series and/or parallel circuits. What
are these four ways, and what is the netresistance in each case?

THH I~ (3
® Ry = 24042404240
= T208}
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=302

L=
i1 [
Re= (o200 29 ® k{—[::k___

= 80()

@aL“Lﬁ*

o 240+24D

=00,




| ¥) - 9 |+ 1B Physics SL Y2 — Electric Circuits Homework Problems.doc [Compatibility] - Microsoft Word =]
(w] ) patibilit

‘ Home Insert Page Layout References Mailings Review View ; l-‘" ly

E #  calibri *n -~
Ea B 7 U ~abe x, x* | &

4
;
o~
il
4

¥
]

4aBbCcl AaBb( | AaBbCcl - =
Emphasis  Headingl | 7 Normal Cha ﬁ-\ -

e[ W] iii
o
< 1
o |
PRIRT

Tt - AN CXN VLA W & | | sty D
Clipboard & Font (7] Paragraph (7] Styles u i =
@‘j'e':"'z'":"'%"':"'%‘":"'?"':“'?"':‘"?--‘:-'-QEW

i 11. Three 240-Q resistors can be connected togetherin four different ways, making combinations of series |l || /Il L'—r

- and/or parallel circuits. What are these fourways, and whatis the net resnstance in each case? | [ [N
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- 13. Three resistors are connected in parallel as 1200
shown above. What s the total power 14. Three resistors are connected in series as
= dissipated? shown above. Whatis the total power
. = dissipated?
: VT— lioV -
i = B —
: y LOV) - Rr = 5024260241200 70
‘ - VZ_ (Qov
(10Q P‘--R-z q’f MEETR
(4 ( ] | »

L s il ) 428 PM



